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AQA AS Biology exam practice answers

9 Genetic diversity and selection

1
(a)
Locus. 

[1]

(b)
Mutation. 

[1]

(c)
The population started with a few individuals. By chance, the Huntington’s allele was over-represented. Inbreeding has kept the frequency high. 

[3]

(d)
The allele makes a protein that causes damage, so its effect will not be masked by the presence 
of another allele. 

[2]
(d) The allele not expressed until over 40, so most individuals have reproduced by then. Possessing 
the allele does not stop reproduction.

[2]
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